Parts Breakdown

Model FW-CN-0825 41757

o — 2
Q
] - 14
5 —
b — 15
o — L= F_FF L _16
— — — ¥
8 — 11 11 11 -

d— 13



Parts Breakdown

Model FW-CN-0825 41757

Item No.
78358
78359
78360
78361
78362
78363
78364
78365

Description

Upper Frame for 41787

Switch for 41787

Internal Wire for 41787

Heat Shrinkable Tube for 41787
Lamp Shade for 41787
Insulation Board for 41787
Insulation Paper for 41787

M5 Screw for 41787

Position

® N o g A~ W N

Item No.

78366
78367
78368
78369
78370
78371
78372
78373

Description

Lamp Socket for 41787
M3 Screw for 41787
Bulb for 41787

Food Tray for 41787
Plastic Pad for 41787
M4 Screw for 41787
Earthing Ear for 41787
Cord Grip for 41787

Position

Item No.

78374
78375
78376
78377
78378
78379

Description

M5 Thumb Screw for 41787
Nut for 41787

Base Tube for 41787
Power Cord for 41787

Plug for 41787

Plastic Pad for 41787

Position



